




Class-X (Main)/03

[Time : 2.00 Hours] Full Marks  :  400

GOAL TALENT SEARCH EXAM : 24.12.2023

CLASS : X - MAIN EXAM

01. A convex lens forms a real and inverted image
of a needle at a distance of 40 cm from it. If the
image is equal to the size of the object, then find
the power of the lens.
(1) +2.5 D (2) +3.5 D (3) +7 D (4) +5 D

02. Convex mirrors are commonly used as/in :
(1) vehicles headlights
(2) shaving mirrors
(3) search lights
(4) rear-view (wing) mirrors in vehicles

03. How many 300  resistors (in parallel) are
required to carry 11 A on a 220 V line ?
(1) 15 (2) 6 (3) 9 (4) 10

04. Several electric bulbs designed to be used on a
220 V electric supply line, are rated 20 W. How
many lamps can be connected in parallel with
each other across the two wires of 220 V line if
the maximum allowable current is 6 A ?
(1) 88 (2) 111 (3) 66 (4) 44

05. Two lamps, one rated 60 W at 200 V and the other
40 W at 200 V, are connected in parallel to
electric mains supply. What current is drawn
from the line of the supply voltage is 200 V ?
(1) 1.5 A (2) 0.5 A
(3) 0.25 A (4) 1 A

06. A proton projected towards east is deflected
towards south by a magnetic field. The direction
of magnetic field is :
(1) upward (2) downward
(3) towards west (4) towards north

07. The magnetic field inside a long straight
solenoid-carrying current :

(1) decreases continuously as we move towards
its end from its midpoint.

(2) is the same at all points.

(3) is zero.

(4) increases as we move towards its end.

08. A long-sighted person cannot see objects clearly
at a distance less than 50 cm from his eye. The
power of the lens needed to read an object at
25 cm is :

(1) + 2D (2) + 2.5 D

(3) –3.5 D (4) 6 D

01- , d mÙky ysal  , d l qbZ l s 40 l seh dh nwjh i j  ml dk okLrfod
rFkk mYVk çfrfcEc cukrk gSA ; fn çfrfcEc oLrq ds vkdkj  ds
cjkcj  gks rks ysal  dh {kerk Kkr dhft ; sA
(1) +2.5 D (2) +3.5 D (3) +7 D (4) +5 D

02- mÙky ni Z.k dk ç; ksx l kekU; r% fuEu : i  esa fd; k t krk gS %
(1) okguksa dh gsMykbV
(2) ' ksfoax ni Z.k
(3) l pZ ykbV
(4) okguksa esa fj ; j&O; w ni Z.k

03- 220 V ykbu i j  11 A dh / kjk ys t kus ds fy,  fdrus 300 
çfrjks/ ksa (l ekukarj  esa) dh vko' ; drk gksxh\
(1) 15 (2) 6 (3) 9 (4) 10

04- 220 V fo| qr vki wfrZ ykbu i j  mi ; ksx ds fy,  fMt kbu fd,  x,
dbZ fo| qr cYcksa dh jsfVax 20 W gSA ; fn vf/ dre Lohdk; Z / kjk
6 A gS  rks 220 V ykbu ds nks rkjksa esa , d nwl js ds l ekukarj
fdrus ySai  t ksM+s t k l drs gSa\
(1) 88 (2) 111 (3) 66 (4) 44

05- nks ySai ] , d 200 V i j  60 W vkSj nwl jk 200 V i j  40 W
' kfDr dk] fo| qr eq[ ;  vki wfrZ ds l ekukarj  t qM+s gq,  gSaA 200 V
dh vki wfrZ oksYVst  dh ykbu l s dkSu l h / kjk • haph t krh gS\
(1) 1.5 A (2) 0.5 A

(3) 0.25 A (4) 1 A

06- i woZ dh vksj  ç{ksfi r , d çksVkWu pqacdh;  {ks=k }kjk nf{k.k dh vksj
fo{ksfi r gks t krk gSA pqacdh;  {ks=k dh fn' kk gS%
(1) Åi j  dh vksj (2) uhps dh vksj
(3) i f' pe dh vksj (4) mÙkj dh vksj

07- / kjk ys t kus okyh , d l h/ h i fjukfydk ds vanj  pqacdh;  {ks=k%
(1) t Sl s&t Sl s ge bl ds eè;  fcanq l s bl ds var dh vksj  c<+rs gSa]

; g yxkrkj  ?kVrh t krh gSA
(2) l Hkh fcanqvksa i j  l eku gSA
(3) ' kwU;  gS-
(4) t Sl s&t Sl s ge bl ds var dh vksj  c<+rs gSa] ; g c<+rk t krk gSA

08- , d nwjn' khZ O; fÙkQ vi uh vka•  l s 50 l seh l s de nwjh dh oLrqvksa
dks Li "V : i  l s ugha ns•  i krk gSA 25 l seh i j  fdl h oLrq dks i <+us
ds fy,  vko' ; d ysal  dh {kerk gS %
(1) + 2D (2) + 2.5 D

(3) –3.5 D (4) 6 D
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09. A passenger in an aeroplane :

(1) Shall never see a primary rainbow.

(2) Shall never see a rainbow.

(3) May see a primary and a secondary rainbow
as concentric circles.

(4) May see a primary and a secondary rainbow
as concentric arcs.

10. If a wire of resistance R is melted and recast
into a wire, twice its original length, then
resistance of the new wire will be :

(1) R (2)
R
4

(3) 2 R (4) 4 R

11. What is the equivalent resistance between
points P and Q in the given circuit diagram ?

2

R S

2

2 2

P Q

4

(1) 8  (2) 6  (3) 12  (4)
20
3



12. A constant current flows in a horizontal wire in
the plane of the paper from west to east as shown
in the given figure. The direction of magnetic
field directly above the wire will be :

N

S

W E

W E

(1) north to south (2) south to north

(3) east to west (4) west to east

13. An object 6 cm in size, is placed at 30 cm
infront of a concave mirror of focal length 20 cm.
Find the size of the image.

(1) +3 cm (2) –12 cm

(3) + 2.4 cm (4) – 9 cm

14. The human eye can focus on objects at different
distances by adjusting the focal length of the eye
lens. This due to :

(1) acredation (2) near-sightedness

(3) accomodation (4) far-sightedness

09- gokbZ t gkt  esa , d ; k=kh %
(1) çkFkfed baæ/ uq"k dHkh ugha ns•  i k, xkA
(2) baæ/ uq"k dHkh ugha ns•  i k, xkA
(3) çkFkfed vkSj f}rh; d baæ/ uq"k dks l adsafær oÙ̀k ds : i  esa ns•

l drs gSaA
(4) çkFkfed vkSj f}rh; d baæ/ uq"k dks l adsafær pki  ds : i  esa ns•

l drs gSaA
10- ; fn R çfrjks/  ds , d rkj  dks fi ?kykdj  ml dh ewy yackbZ l s

nksxquk rkj  cuk; k t k, ] rks u,  rkj  dk çfrjks/  gksxk%

(1) R (2)
R
4

(3) 2 R (4) 4 R

11- fn,  x,  l fdZV vkjs•  esa fcanq P vkSj Q ds chp l erqY;  çfrjks/
D; k gS\

2

R S

2

2 2

P Q

4

(1) 8  (2) 6  (3) 12  (4)
20
3



12- dkxt  ds ry esa , d {kSfrt  rkj  esa i f' pe l s i woZ dh vksj  , d
fLFkj  / kjk çokfgr gksrh gS t Sl k fd fn,  x,  fp=k esa fn• k; k x; k
gSA rkj  ds Bhd Åi j  pqacdh;  {ks=k dh fn' kk gksxh%

N

S

W E

W E

(1) mÙkj l s nf{k.k (2) nf{k.k l s mÙkj

(3) i woZ l s i f' pe (4) i f' pe l s i woZ
13- 6 l seh vkdkj  dh , d oLrq 20 l seh i Qksdl  nwjh okys vory ni Z.k

ds l keus 30 l seh dh nwjh i j  j[ kh gqbZ gSA i zfrfcEc dk vkdkj  Kkr
djsa-
(1) $3 l seh (2) &12 l seh
(3) $ 2-4 l seh (4) & 9 l seh

14- ekuo vka•  us=k] ysal  dh i Qksdy yackbZ dks l ek; ksft r djds fofHkUu
nwjh i j  fLFkr oLrqvksa i j  è; ku dsafær dj l drh gSA bl dk
dkj.k gS&
(1) , fØMs' ku (2) fudV ǹf"V
(3) l ek; kst u (4) nwjnf' kZrk
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15. The velocity-time graph of a ball of mass 50 g
moving along a straight line on a long table is
given in fig. below. Find the magnitude of
retarding force.

30

24

18
12

6V
el

oc
ity

 (
m

/s
)

1 2 3 4 5 6 7 8 9 10 11
time (s)

(1) 0.06 N (2) 0.09 N
(3) 0.18 N (4) 0.12 N

16. A force of 16 N gives a mass m1, an acceleration
of 8 ms–2 and a mass m2, an acceleration of
12 ms–2. What acceleration would it give if both
the masses were tied together ?
(1) 6.4 m/s2 (2) 3.6 m/s2

(3) 4.8 m/s2 (4) 5.6 m/s2

17. Two men manage to push a motorcar of mass
1600 kg at a uniform velocity along a level road.
The same motorcar can be pushed by three men
to produce an acceleration of 0.3 ms–2. With what
force does each push the motorcar ? (Assume
that all men push the motorcar with the same
muscular effort).
(1) 480 N (2) 640 N (3) 160 N (4) 240 N

18. A block of wood is kept on a tabletop. The mass
of wooden block is 12 kg and its dimensions are
50 cm × 40 cm × 30 cm. Find the pressure
exerted by the wooden block on the table top if it
is made to the lie on the table top with its sides
of dimensions 40 cm × 30 cm. (g = 10 m/s2).

50
 c

m

40 cm 30 cm

(1) 500 N/m2 (2) 1500 N/m2

(3) 750 N/m2 (4) 1000 N/m2

19. A porter lifts a luggage of 25 kg from the ground
and puts it on his head 1.6 m above the ground.
Calculate the work done by him on the luggage.
(g = 10 m/s2)
(1) 200 J (2) 360 J (3) 400 J (4) zero

15- , d yach est  i j  l h/ h js• k esa ?kwe jgh 50 xzke æO; eku dh xsan
dk osx&l e;  xzki Q uhps fp=k esa fn; k x; k gSA eanu cy dk i fjek.k
Kkr djsaA

30

24

18
12

6

1 2 3 4 5 6 7 8 9 10 11

(1) 0.06 N (2) 0.09 N

(3) 0.18 N (4) 0.12 N

16- 16 N dk cy æO; eku m1] 8 ms–2 dk Roj.k vkSj , d
æO; eku m2] 12 ms–2 dk Roj.k nsrk gSA ; fn nksuksa æO; ekuksa dks
, d l kFk cka/  fn; k t k,  rks ; g fdruk Roj.k nsxk\

(1) 6-4 eh@l s-2 (2) 3-6 eh-@l s-2

(3) 4-8 eh@l s-2 (4) 5-6 eh-@l s-2

17- nks O; fÙkQ 1600 fdyksxzke æO; eku dh , d eksVj l kbdy dks , d
l ery l M+d i j  , dl eku osx l s / dsyus esa l i Qy gksrs gSaA ml h
l eku eksaVksjdkj  dks rhu O; fDr / Ddk nsdj  0.3 ms–2 dk Roj.k
mRi Uu dj  l drs gSaA çR; sd O; fDr eksVjdkj  dks fdl  cy l s /
dsyrk gS\  (eku yhft ,  fd l Hkh O; fDr l eku ekal i s' kh;  ç; kl  l s
eksVjdkj  dks / Ddk nsrs gSa)A
(1) 480 N (2) 640 N (3) 160 N (4) 240 N

18- , d VscyVkWi  i j  ydM+h dk , d xqVdk j • k gqvk gSA ydM+h ds
xqVdk dk æO; eku 12 fdyksxzke gS v kSj bl dk v k; ke
50 l seh × 40 l seh × 30 l seh gSA ; fn ydM+h ds xqVdk dks
40 l seh × 30 l seh ds vk; keksa ds l kFk Vscy ds ' kh"kZ i j ysVk; k
t krk gS] rks Vscy VkWi  i j  bl ds }kjk yxk,  x,  ncko dk i rk yxk,aA
(g = 10 m/s2).

50
 c

m

40 cm 30 cm

(1) 500 N/m2 (2) 1500 N/m2

(3) 750 N/m2 (4) 1000 N/m2

19- , d dqyh 25 fdyks dk l keku t ehu l s mBkrk gS vkSj ml s t ehu
l s 1-6 ehVj Åi j  v i us fl j  i j  j • rk gSA l keku i j  ml ds }kjk
fd,  x,  dk; Z dh x.kuk djsaA (g = 10 m/s2)

(1) 200 J (2) 360 J (3) 400 J (4) ' kwU;
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20. A sound of single frequency is called :
(1) note (2) tone
(3) octave (4) harmonics

21. 180 g of water can be represented as

(i) 1.0 g mole of water

(ii) 10 moles of water

(iii) 6.023 × 1022 molecules of water

(iv) 6.023 × 1024 molecules of water

(1) (i) and (ii) only

(2) (ii) and (iv) only

(3) (ii) and (iii) only

(4) All of these

22. There are two atomic species P and Q such that

Atomic species P Q

Protons 8 8

Neutrons 8 10

Which of the following statements is true about
P and Q ?

(1) P and Q are isobars.

(2) P and Q have different chemical properties

(3) P and Q have different physical properties

(4) All are correct.

23. Study the given Venn diagram carefully.

Solid

Liquid
Gas

X
Y

Z

Which of the following colloidal systems correctly
represent points X, Y and Z ?

X Y Z
(1) Mist Whipped Dust fumes

cream

(2) Milk Hair cream Pumice stone

(3) Paints Smoke Cloud

(4) Coloured Wings of Butter

glasses butterflies

20- , dy vkof̀Ùk dh èofu dgykrh gS %
(1) Loj (2) l qj
(3) vkWDVso (4) gkekZsfuDl

21- 180 xzke i kuh dks bl  çdkj  n' kkZ; k t k l drk gS
(i) t y dk 1-0 xzke eksy
(ii) t y dk 10 eksy
(iii) t y ds 6.023 × 1022 v.kq
(iv) t y ds 6.023 × 1024 v.kq
(1) (i) vkSj (ii) dsoy
(2) (ii) vkSj (iv) dsoy
(3) (ii) vkSj (iii) dsoy
(4) buesa l Hkh

22- nks i jek.kq çt kfr; k¡ P vkSj Q bl  i zdkj  gS fd &

i jek.kq i zt kfr P Q

i zksVkWu 8 8

U; wVªkWu 8 10

P vkSj Q ds ckjs esa fuEufyf• r esa l s dkSu l k dFku l R;  gS\
(1) P vkSj Q vkbl ksckj  gSaA
(2) P vkSj Q ds jkl k; fud xq.k fHkUu gSaA
(3) P vkSj Q ds HkkSfrd xq.k fHkUu gSa
(4) l Hkh l gh gSaA

23- fn,  x,  osu vkjs•  dk è; kui woZd vè; ; u djsaA

X
Y

Z

fuEufyf• r esa l s dkSu l k dksykbMy fl LVe fcanq X] Y vkSj Z dk
l gh çfrfuf/ Ro djrk gS\

X Y Z

(1) dqgkl k i sQVh gqbZ / wy dk / qvk¡
eykbZ

(2) nw/ gs; j  Øhe I; wfed LVksu
(3) i saV~l / q¡vk ckny
(4) jaxhu frrfy; ksa ds i a[ k eD• u

dk¡p
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24. Which one of the following does not have fixed
melting or boiling point ?

(1) Oxygen (2) Gold

(3) Ethanol (4) Air

25. All samples of carbon dioxide contain carbon and
oxygen in the mass ratio of 3 : 8. This is in
agreement with the law of :

(1) Conservation of mass

(2) Constant proportion

(3) Multiple proportion

(4) Reciprocal proportion

26. Which of the following in figure do not represent
Bohr’s model of an atom correctly?

(i) (ii)

(iii) (iv)

(1) (i) and (ii) (2) (ii) and (iii)

(3) (ii) and (iv) (4) (i) and (iv)

27. Match the column I with column II and mark
the correct option from the codes given below.

Column-I Column-II

(a) C + O2  CO2 (i) Displacement

(b) lightAgBr Ag Br  (ii) Combination

(c) Mg + CuSO4  (iii) Decomposition

MgSO4 + Cu

(d) CH3CH2OH Cu (iv)Oxidation

CH3CHO + H2

(1) (a)–(i), (b)–(ii), (c)–(iii), (d)–(iv)

(2) (a)–(ii), (b)–(iii), (c)–(i), (d)–(iv)

(3) (a)–(iii), (b)–(i), (c)–(ii), (d)–(iv)

(4) (a)–(iii), (b)–(ii), (c)–(i), (d)–(iv)

24- fuEufyf• r esa l s fdl dk xyukad ; k DoFkukad fu; r ugha gS\

(1) vkWDl ht u (2) l ksuk

(3) bFksukWy (4) ok; q

25- dkcZu MkbvkWDl kbM ds l Hkh uewuksa esa 3 % 8 ds æO; eku vuqi kr
esa dkcZu vkSj vkWDl ht u gksrs gSaA ; g fu; e ds vuq: i  gS%

(1) æO; eku dk l aj{k.k

(2) fLFkj  vuqi kr

(3) , dkf/ d vuqi kr

(4) O; qRØekuqi kr

26- fp=k esa fuEufyf• r esa l s dkSu l k cksj  ds i jek.kq ekWMy dk l gh
<ax l s çfrfuf/ Ro ugha djrk gS\

(i) (ii)

(iii) (iv)

(1) (i) vkSj (ii) (2) (ii) vkSj  (iii)

(3) (ii) vkSj  (iv) (4) (i) vkSj  (iv)

27- LraHk I dks LraHk II l s feyk,a vkSj uhps fn,  x,  dksM l s l gh fodYi
fpfÉr djsaA

LraHk & I LraHk & II

(a) C + O2  CO2 (i) foLFkki u

(b) AgBr Ag Br i zdk' k (ii) l a; kst u

(c) Mg + CuSO4  (iii)v i ?kVu

MgSO4 + Cu

(d) CH3CH2OH Cu (iv) vkWDl hdj.k

CH3CHO + H2

(1) (a)–(i), (b)–(ii), (c)–(iii), (d)–(iv)

(2) (a)–(ii), (b)–(iii), (c)–(i), (d)–(iv)

(3) (a)–(iii), (b)–(i), (c)–(ii), (d)–(iv)

(4) (a)–(iii), (b)–(ii), (c)–(i), (d)–(iv)
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28. A few drops of phenolphthalein indicator were
added to an unknown solution P. It acquired a
pink colour. Now another unknown solution Q
was added to it dropwise and the solution became
colourless. What are the solutions P and Q ?

Phenolphthalein Solution-Q

Solution-P
(Colourless)

Solution-P
(Pink)

(1) Solution P is a base and Q is an acidic
solution.

(2) Solution P is an acid and Q is a basic solution.
(3) Solution P is a base and solution Q is a neutral

salt solution.
(4) Solution P is an acid and solution Q is a

neutral salt solution.
29. Match the column-I with column II and mark

the appropriate option given below :
Column-I Column-II

(a) C2H5OH  (i) Conc. H2SO4, 170°C
CH3COOH

(b) C2H5OH  (ii) H2, Ni
CH2=CH2

(c) CH4  CH3Cl (iii) Alkaline KMnO4
(d) CH2=CH2 (iv) Cl2, sunlight

CH3CH3
(1) (a)–(i), (b)–(iii), (c)–(ii), (d)–(iv)
(2) (a)–(iv), (b)–(iii), (c)–(ii), (d)–(i)
(3) (a)–(i), (b)–(iv), (c)–(iii), (d)–(i)
(4) (a)–(iii), (b)–(i), (c)–(iv), (d)–(ii)

30. Observe the given figure carefully which of the
following observation(s) is/are correct?
I. A double decomposition reaction takes place.
II. Brown fumes of NO2 are evolved.
III.Red residue is left behind in the test tube.

Dry test tube

Lead nitrate crystals

Burner

Test tube
holder

(1) I and III only (2) II only
(3) I and II only (4) All of the above

28- fi Quksyi QFksfyu l adsrd dh dqN cwanksa dks , d vKkr foy; u P esa
feyk; k x; kA bl us xqykch jax çkIr dj  fy; kA vc bl esa , d vkSj
vKkr foy; u Q cwan&cwan djds feyk; k x; k vkSj foy; u jaxghu
gks x; kA foy; u P vkSj Q D; k gSa\

(1) foy; u P , d {kkj  gS vkSj Q , d vEyh;  foy; u gSA
(2) foy; u P , d vEy gS vkSj Q , d {kkjh;  foy; u gSA
(3) foy; u P , d {kkj  gS vkSj foy; u Q , d mnkl hu yo.k

foy; u gSA
(4) foy; u P , d vEy gS vkSj foy; u Q , d mnkl hu yo.k

foy; u gSA
29- LraHk&I dks LraHk II l s feyk, a vkSj uhps fn,  x,  mfpr fodYi  dks

fpfÉr djsa%
LraHk& I LraHk& II

(a) C2H5OH  (i) l kaæ H2SO4, 170°C
CH3COOH

(b) C2H5OH  (ii) H2, Ni
CH2=CH2

(c) CH4  CH3Cl (iii) {kkjh;  KMnO4
(d) CH2=CH2 (iv) Cl2] l w; Z çdk' k

CH3CH3
(1) (a)–(i), (b)–(iii), (c)–(ii), (d)–(iv)
(2) (a)–(iv), (b)–(iii), (c)–(ii), (d)–(i)
(3) (a)–(i), (b)–(iv), (c)–(iii), (d)–(i)
(4) (a)–(iii), (b)–(i), (c)–(iv), (d)–(ii)

30- fn,  x,  fp=k dks è; ku l s ns• sa] fuEufyf• r esa l s dkSu l k@l s
voyksdu l gh gS@gSa\
I. nksgjh v i ?kVu çfrfØ; k gksrh gSA
II. NO2 dk Hkwjk / qavk fudyrk gSA
III. i j • uyh esa yky vo' ks"k jg t krk gSA

(1) dsoy I vkSj III (2) dsoy II
(3) dsoy I vkSj II (4) mi jksÙkQ l Hkh
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31. Match Column I with Column II and mark the
correct option from the codes given below

Column-I Column-II

(a) NaHCO3 (i) Used for disinfecting

water

(b) Na2CO3 (ii) Used in soda-acid fire

extinguishers

(c) CaOCl2 (iii) Used for removing

permanent hardness

of water

(d) CaSO4· 2
1 H O
2 (iv) Used for making toys,

materials for

decoration

(1) (a)–(iii), (b)–(i), (c)–(iv), (d)–(ii)

(2) (a)–(ii), (b)–(iii), (c)–(i), (d)–(iv)

(3) (a)–(iii), (b)–(ii), (c)–(i), (d)–(iv)

(4) (a)–(i), (b)–(ii), (c)–(iv), (d)–(iii)

32. IUPAC names of a few esters are given below :

1. Ethyl propanoate

2. Propyl methanoate

3. Methyl butanoate

4. Ethyl butanoate

The ether(s) which contain(s) ten hydrogen
atoms per molecule is/are

(1) 1 only (2) 4 only

(3) 1 and 3 only (4) 1 and 2 only

33. Jaya wrote IUPAC names of few compounds
asked by her science teacher. The teacher told
her that one of the compounds was not correctly
named. Identify the one with wrong name.

(1) CH CH —C—CH  : Butanone3 2 3

O

(2) CH CH —C—H : Propanal3 2

O

(3) CH CH —C—OH : Ethanoic acid3 2

O

(4) CH3—CH2—CH2—CH2—OH : Butanol

31- LraHk I dks LraHk II l s feyk,a vkSj uhps fn,  x,  dksM l s l gh fodYi
fpfÉr djsa

LraHk& I LraHk& II
(a) NaHCO3 (i) t y dks dhVk.kq' kks/ u ds

fy,  mi ; ksx fd; k t krk
gS

(b) Na2CO3 (ii) l ksMk&vEy vfXu' kkeu
; a=kksa esa mi ; ksx fd; k t krk
gS

(c) CaOCl2 (iii) i kuh dh LFkk; h dBksjrk
dks nwj djus ds fy,  mi ; ksx
fd; k t krk gS

(d) CaSO4· 2
1 H O
2 (iv)f• ykSus] l t koV ds fy,

l kexzh cukus ds fy,
mi ; ksx fd; k t krk gS]

(1) (a)–(iii), (b)–(i), (c)–(iv), (d)–(ii)
(2) (a)–(ii), (b)–(iii), (c)–(i), (d)–(iv)
(3) (a)–(iii), (b)–(ii), (c)–(i), (d)–(iv)
(4) (a)–(i), (b)–(ii), (c)–(iv), (d)–(iii)

32- dqN , LVj ds IUPAC uke uhps fn,  x,  gSa%
1- , Fkkby çksi suks, V
2- çksi kby esFkks, uks, V
3- feFkkby C; wVkuks, V
4- bFkkby C; wVkuks, V
bZFkj ft l esa çfr v.kq nl  gkbMªkst u i jek.kq gksrs gSa@gSa
(1) dsoy 1 (2) dsoy 4
(3) dsoy 1 vkSj 3 (4) dsoy 1 vkSj 2

33- t ; k us v i us foKku f' k{kd }kjk i wNs x,  dqN ; kSfxdksa ds IUPAC
uke fy• sA f' k{kd us ml s crk; k fd , d ; kSfxd dk uke l gh ugha
gSA xyr uke okys dks i gpkusa-

(1)

O

(2)

O

(3)

O

(4) CH3—CH2—CH2—CH2—OH : C; wVkukWy
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34. Study the given table carefully.

S.No. Metal Reaction with dilute HCl
1 P No change
2 Q Temperature of reaction mixture rises.
3 R Reaction is explosive.

4 S Some gas bubbles are seen.

Metals P, Q, R and S could be respectively
(1) K, Al, Na and Cu
(2) Cu, Pb, Na and Al
(3) Ag, Al, Na and Pb
(4) Cu, Ca, K and Al

35. Electrolysis of water is a decomposition reaction.
The molar ratio of oxygen and hydrogen gases
liberated during electrolysis of water is
(1) 1 : 1 (2) 2 : 1 (3) 4 : 1 (4) 1 : 2

36. Ag2S reacts with H2SO4 to form
(1) AgSO4 (2) Ag2SO4 + H2S
(3) Ag2O + H2S (4) AgOH + H2S

37. Match column I with column-II.

sunlight
4 2

2 2

3 3

Unsaturated
(i) CH Cl (p)

hydrocarbon
Used in wood 

(ii) H C=CH (q)
polish

(iii) CH OH (r) CH Cl + HCl
Used in ice cream,

(iv) Ester (s) cold drinks and
artifical flavours

 

Column - I Column - II

(1) (i)–(r), (ii)–(p), (iii)–(q), (iv)–(s)
(2) (i)–(p), (ii)–(q), (iii)–(r), (iv)–(s)
(3) (i)–(s), (ii)–(r), (iii)–(q), (iv)–(p)
(4) (i)–(r), (ii)–(s), (iii)–(p), (iv)–(q)

38. Which of the following reactions are
decomposition reactions ?
(i) Al + O2  Al2O3
(ii) MgO + H2O  Mg(OH)2
(iii) 2KClO3  2KCl + 3O2
(iv) CaCO3  CaO + CO2
(1) (i) and (ii) (2) (ii) and (iii)
(3) (iii) and (iv) (4) (i) and (iv)

39. NaCl is not a deliquescent salt but common salt
obtained from sea water is deliquescent due to
the presence of :
(1) MgSO4·7H2O (2) MgCl2·6H2O
(3) CsCl (4) K2SO4

34- nh xbZ rkfydk dk è; kui woZd vè; ; u djsaA

l wph l añ / krq ruq HCl ds l kFk i zfrfØ; k
1 P dksbZ i fjorZu ugha gksrk gSA
2 Q i zfr fØ; k feJ.k dk r ki eku c<+ t krk gSA
3 R i zfr fØ; k foLi sQkVd gS
4 S dqN xSl  ds cqycqys fn[ kkbZ nsrs gSaA

/ krq, ¡ P, Q, R vkSj S Øe' k% gks l drh gSa
(1) K, Al, Na vkSj  Cu
(2) Cu, Pb, Na vkSj  Al
(3) Ag, Al, Na vkSj  Pb
(4) Cu, Ca, K vkSj  Al

35- t y dk fo| qr v i ?kVu , d v i ?kVu vfHkfØ; k gSA i kuh ds
bysDVªksfyfl l  ds nkSjku eqÙkQ vkWDl ht u vkSj gkbMªkst u xSl ksa dk
eksyj  vuqi kr gS
(1) 1 : 1 (2) 2 : 1 (3) 4 : 1 (4) 1 : 2

36- Ag2S] H2SO4 ds l kFk vfHkfØ; k djds curk gS
(1) AgSO4 (2) Ag2SO4 + H2S
(3) Ag2O + H2S (4) AgOH + H2S

37- LraHk–I dks LraHk&II l s feyk, ¡A

4 2

2 2

3 3

(i) CH Cl (p)

(ii) H C=CH (q)

(iii) CH OH (r) CH Cl + HCl

(iv) (s)

 

- I - IILr EHk LrEHk
l ;wZidz k' k vl ràIr  gkbMkªsdkcuZ

ydM+hd h i kWfy' k esa
mi Õkksx fdÕkk t krk gS

vkbl Øhe] dksYM fMªda vkjS    
, LVj Ñf=ke Loknksa eas mi Õkksx 

fdÕkk t krk gS

(1) (i)–(r), (ii)–(p), (iii)–(q), (iv)–(s)

(2) (i)–(p), (ii)–(q), (iii)–(r), (iv)–(s)

(3) (i)–(s), (ii)–(r), (iii)–(q), (iv)–(p)

(4) (i)–(r), (ii)–(s), (iii)–(p), (iv)–(q)

38- fuEufyf• r esa l s dkSu l h çfrfØ; k, ¡ fo?kfVr çfrfØ; k, ¡ gSa\
(i) Al + O2  Al2O3
(ii) MgO + H2O  Mg(OH)2
(iii) 2KClO3  2KCl + 3O2
(iv) CaCO3  CaO + CO2
(1) (i) vkSj  (ii) (2) (ii) vkSj  (iii)

(3) (iii) vkSj  (iv) (4) (i) vkSj  (iv)

39- NaCl  , d æohÑr ued ugha gS] ysfdu l eqæ ds i kuh l s çkIr
l kekU;  ued fdl dh mi fLFkfr ds dkj .k æfor gksrk gS%
(1) MgSO4·7H2O (2) MgCl2·6H2O

(3) CsCl (4) K2SO4
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40. Identify the saturated hydrocarbons from the
following compounds :
I. Propane II. Propene
III. Propyne IV. Cyclopropane
(1) I and II (2) II and III
(3) I and III (4) I and IV

41. Which of the following is the excretory unit of
human kidney ?
(1) Pons (2) Alveoli
(3) Nephron (4) None of the above

42. Which of the following statement is incorrect ?
(1) Amphibians have four-chambered hearts and

do not tolerate mixing of the oxygenated and
de-oxygenated blood stream.

(2) Arteries are the vessels which carry blood
away from the heart to various organs of the
body.

(3) Plants store waste products in cellular
vacuoles, fallen leaves and in the form of
resins and gums in old xylem.

(4) None of the above
43. Which of the following helps in blood clotting to

prevent leaks and maintain pressure ?
(1) Capillaries (2) Lymph
(3) Both ‘1’ and ‘2’ (4) Platelets

44. I. Fore brain— Sensory information and
making decisions.

II. Mid brain — Control involuntary actions and
reflexes.

III.Hind brain— Control vital functions like
heart-rate.

Which of the following pairs are correct ?
(1) Only I (2) Both I and II
(3) Both II and III (4) I, II and III

45. Which hormone causes changes during female
puberty ?

(1) Estrogen (2) Testosterone

(3) Adrenaline (4) Thyroxin

46. Identify the given figure.

(1) Multiple fission in Leishmania

(2) Binary fusion in Amoeba

(3) Multiple fission in Plasmodium

(4) Regeneration in Planaria

40- fuEufyf• r ; kSfxdksa esa l s l arÌr gkbMªksdkcZu dh i gpku djsa%
I. çksi su II. çksi hu
III.çksi kbu IV. l kbDyksçksi su
(1) I vkSj  II (2) II vkSj  III
(3) I vkSj  III (4) I vkSj  IV

41- fuEufyf• r esa l s dkSu ekuo xqnZs dh mRl t Zu bdkbZ gS\
(1) i ksal (2) , fYo; ksyh
(3) usÚkWu (4) mi jksÙkQ esa l s dksbZ ugha

42- fuEufyf• r esa l s dkSu l k dFku xyr gS\
(1) mHk; pjksa dk ân;  pkj&d{kh;  gksrk gS vkSj os vkWDl ht u ; qÙkQ

vkSj vkWDl ht u j fgr jÙkQ çokg dks fefJr ugha gksus nsrk gSaA
(2) / efu; k¡ os okfgdk, ¡ gSa t ks jÙkQ dks ân;  l s ' kjhj  ds fofHkUu

vaxksa rd ys t krh gSaA
(3) i kS/ s v i f' k"V mRi knksa dks dksf' kdh;  fj fÙkQdkvksa] fxjh gqbZ i fÙk; ksa

vkSj i qjkus t kbye esa jsft u vkSj xksan ds : i  esa l axzfgr djrs
gSaA

(4) mi jksÙkQ esa l s dksbZ ugha
43- fuEufyf• r esa l s dkSu jÙkQ dk FkDdk t eus] fj l ko dks jksdus vkSj

ncko cuk,  j • us esa enn djrk gS\
(1) dsf' kdk, ¡ (2) yl hdk
(3) ‘1’ vkSj ‘2’ nksuksa (4) IysVysV~l

44- I. vxzefLr"d & l aosnh t kudkjh vkSj fu.kZ;  ysukA
II. eè;  efLr"d & vuSfPNd fØ; kvksa vkSj l t xrk dks fu; af=kr

djrk gSA
III. i ' p efLr"d & ân;  xfr t Sl s egRoi w.kZ dk; ks± dks fu; af=kr

djrk gSA
fuEufyf• r esa l s dkSu l k ; qXe l gh gS\
(1) dsoy I (2) I vkSj II nksuksa
(3) II vkSj III nksuksa (4) I] II vkSj III

45- dkSu l k gkeksZu efgyk ; kSou i fjoÙkZu dk dkj .k curk gS\
(1) , LVªkst u (2) VsLVksLVsjksu
(3) , fMªukyhu (4) Fkk; jksfDl u

46- fn,  x,  fp=k dks i gpkusaA

(1) yh' keSfu; k esa , dkf/ d fo• aMu
(2) vehck esa f}vk/ kjh l ay; u
(3) IykTeksfM; e esa , dkf/ d fo• aMu

(4) Iysusfj ; k esa i qut Zuu
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47. I. Uterus — Bag-like structure for
baby’s development.

II. Fallopian tube — Site of fertilization.
III. Placenta — Disc-like, embedded in the

uterine wall.
How many pairs are correct ?
(1) Only one (2) Two pairs
(3) Three pairs (4) None of the above

48. Any change or alternation of DNA (gene) will lead
to :

(1) Natural process

(2) Chemical process

(3) Bio-chemical process

(4) Evolutionary process

49. A man with blood group A marries a woman with
blood group 'O'. Possible blood group of their child
will be :

(1) A and O (2) Only O (3) AB (4) AB or O

50. Choose the True (T) and False (F) statement.

I. O3
 is composed of three oxygen atoms, while

oxygen (O2) is vital for aerobic life.

II. Bacteria and protozoa simply split into two
equal halves during cell division.

III. Stamen is female reproductive part and it is
present in the centre of a flower.

I II III I II III

(1) T T F (2) F T T
(3) F T F (4) T F T

51. Absorption of water by plant roots is an example
of :
(1) osmosis
(2) active transport
(3) both ‘1’ and ‘2’
(4) facilitated diffusion

52. I. Bone cells are situated within a rigid matrix
made up of calcium and phosphorus
compound.

II. Muscles contain unique proteins called
contractile proteins, which contract and relax
to cause movement.

Choose the correct statement.
(1) I and II (2) Only I
(3) Only II (4) Neither I nor II

53. Which organism derive nutrition from other
without killing ?
(1) Tapeworm (2) Leech
(3) Lice (4) All of the abvoe

47- I. xHkkZ' k;  & f' k' kq ds fodkl  ds fy,  FkSyh t Sl h l ajpukA

II. i QSyksfi ; u VÔwc & fu"kspu dk LFkkuA

III. Iysl saVk & fMLd dh rjg] xHkkZ' k;  dh nhokj  esa / al k gqvkA

fdrus ; qXe l gh gSa\

(1) dsoy , d (2) nks ; qXe

(3) rhu ; qXe (4) mi jksÙkQ esa l s dksbZ ugha
48- Mh, u,  (t hu) esa dksbZ Hkh i fjorZu ; k mRi fjoÙkZu fuEu dks c<+kok

nsxk&
(1) çkÑfrd çfØ; k
(2) jkl k; fud çfØ; k
(3) t So&jkl k; fud çfØ; k
(4) fodkl oknh çfØ; k

49- A jÙkQ l ewg okyk , d i q#"k] 'O' jÙkQ l ewg okyh efgyk l s fookg
djrk gS] muds cPps dk l aHkkfor jÙkQ l ewg gS%
(1) A rFkk O (2) dsoy O (3) AB (4) AB ; k O

50- l gh (T) vkSj xyr (F) dFku pqusaA
I. O3 rhu vkWDl ht u i jek.kqvksa l s cuk gS] t cfd vkWDl ht u

(O2) ck; oh;  t hou ds fy,  egRoi w.kZ gSA
II. dksf' kdk foHkkt u ds nkSjku cSDVhfj ; k vkSj çksVkst ksvk cl  nks

cjkcj  fgLl ksa esa foHkkft r gks t krs gSaA
III. i qadsl j  eknk çt uu vax gS vkSj ; g i Qwy ds dsaæ esa ekSt wn gksrk

gSA
I II III I II III

(1) T T F (2) F T T
(3) F T F (4) T F T

51- i kS/ ksa dh t M+ksa }kjk t y dk vo' kks"k.k bl dk mnkgj.k gS %
(1) i jkl j .k
(2) l fØ;  i fjogu
(3) ‘1’ vkSj ‘2’

(4) l qxe i zl kj
52- I. vfLFk dksf' kdk, a] dSfY' k; e vkSj i QkLi Qksj l  ; kSfxd l s cus , d

dBksj  eSfVªDl  ds Hkhrj  fLFkr gksrh gSaA
II. ekal i sf' k; ksa esa vf}rh;  çksVhu gksrs gSa ft Ugsa fl dqM+k gqvk çksVhu

dgk t krk gS] t ks fl dqM+rs vkSj vkjke djrs gq,  xfr i Snk djrs
gSaA

l gh dFku pqusa-
(1) I vkSj II (2) dsoy I
(3) dsoy II (4) u rks I vkSj u gh II

53- dkSu l s t ho fcuk ekjs nwl js l s i ks"k.k çkIr djrs gSa\
(1) i Qhrk Ñfe (2) t ksad
(3) t w¡ (4) mi jksDr l Hkh



Class-X (Main)/013

54. The ________ gland in the brain signals the testes
to produce testosterone in males.
(1) Adrenal (2) Thyroid
(3) Pituitary (4) Both ‘1’ and ‘2’

55. Match the Columns :
Column I Column II

(a) A.cerana indica (i) Little bee
(b) A. mellifera (ii) Indian bee
(c) A. florae (iii)Italian bee
(d) Mrigals (iv) Bottom feeder
(e) Catlas (v) Surface feeder
(1) (a-i), (b-ii), (c-iii), (d-iv), (e-v)
(2) (a-ii), (b-iii), (c-i), (d-iv), (e-v)
(3) (a-i), (b-iii), (c-ii), (d-v), (e-iv)
(4) (a-ii), (b-i), (c-iii), (d-v), (e-iv)

56. Vegetative propagation in potato take place by :
(1) Stem (2) Root
(3) Leaf (4) Internode

57. Identify the given figure and choose the correct
option.

C

B

A

(1) A – They develop into shoot
(2) B – They develop into root
(3) C – They store food
(4) All of the above

58. Choose the incorrect option with respect to the
flow of energy in an ecosystem.
(1) The green plants in a terrestrial ecosystem

capture about 1% of the energy of sunlight
that falls on their leaves.

(2) The flow of energy is unidirectional.
(3) The energy available at each trophic level

gets magnified progressively.
(4) All of the above.

59. Which of the following constitute a food chain ?
(1) Grass, goat and human.
(2) Grass, goat and cow.
(3) Grass, fish and goat.
(4) Goat, Cow and Elephant.

60. Aerobic respiration takes place in ______
breaking pyruvate into CO2 and H2O, releasing
more energy.
(1) Cytoplasm (2) Mitochondria
(3) Chloroplast (4) Nucleus

54- efLr"d esa ________ xzafFk i q#"kksa esa VsLVksLVsjksu dk mRi knu djus
ds fy,  o"̀k.k dks l adsr nsrh gSA
(1) vf/ oD̀d (2) Fkk; jkWbM
(3) fi ; w"k (4) ‘1 vkSj ‘2 nksuksa

55- LrEHkksa dk feyku djsa%
LraHk I LraHk II

(a) , ñ l sjkuk bafMdk (i) NksVh e/ qeD• h
(b) , ñ esfyi Qsjk (ii) Hkkjrh;  e/ qeD• h
(c) , ñ Ýyksjk (iii) bVkfy; u e/ qeD• h
(d) ex̀Yl (iv) ckWVe i QhMj
(e) dryk (v) l rgh i QhMj
(1) (a-i), (b-ii), (c-iii), (d-iv), (e-v)
(2) (a-ii), (b-iii), (c-i), (d-iv), (e-v)
(3) (a-i), (b-iii), (c-ii), (d-v), (e-iv)
(4) (a-ii), (b-i), (c-iii), (d-v), (e-iv)

56- vkyw esa okuLi frd ço/ Zu gksrk gS %
(1) ruk }kjk (2) t M+ }kjk
(3) i Ùkh }kjk (4) baVukZsM

57- fn,  x,  fp=k dks i gpkusa vkSj l gh fodYi  pqusaA

C

B

A

(1) A & os ruk esa fodfl r gksrs gSa
(2) B & os t M+ ds : i  esa fodfl r gksrs gSa
(3) C & os Hkkst u dk HkaMkj.k djrs gSa
(4) mi jksÙkQ l Hkh

58- fdl h i kfj fLFkfrdh ra=k esa Åt kZ ds çokg ds l aca/  esa xyr fodYi
pqusaA
(1) LFkyh;  i kfj fLFkfrdh ra=k esa gjs i kS/ s v i uh i fÙk; ksa i j  i M+us okys

l w; Z ds çdk' k dh Åt kZ dk yxHkx 1» xzg.k djrs gSaA
(2) Åt kZ dk çokg , dfn' kkRed gksrk gSA
(3) çR; sd i ks"kh Lrj  i j  mi yC/  Åt kZ mÙkjksÙkj c<+rh t krh gSA
(4) mi jksÙkQ l HkhA

59- fuEufyf• r esa l s dkSu • k|  Jà• yk dk fuekZ.k djrk gS\
(1) ?kkl ] cdjh vkSj euq"; A
(2) ?kkl ] cdjh vkSj xk; A
(3) ?kkl ] eNyh vkSj cdjhA
(4) cdjh] xk;  vkSj gkFkhA

60- ok; oh;  ' ol u _______ esa gksrk gS] t ks i kb: osV dks CO2 vkSj
H2O esa rksM+rk gS] ft l l s vf/ d Åt kZ fudyrh gSA
(1) dksf' kdknzO; (2) ekbVksdkWfUMª; k
(3) i .kZgfj r (4) dsUnzd
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61. If P is prime, then H.C.F. and L.C.M. of P and
P + 1 would be :

(1) H.C.F. = P, L.C.M. = P + 1

(2) H.C.F. = P(P + 1), L.C.M. = 1

(3) H.C.F. = 1, L.C.M. = P(P + 1)

(4) None of these

62. X takes 3 hours more than Y to walk 30 km. But

if X doubles his pace, he is ahead of Y by 
11
2

hours. The speed of X is :

(1) 5 km/h (2) 9 km/h

(3)
9
7

 km/h (4)
10
3  km/h

63. The roots of ax2 + bx + c = 0, a  0 are real and
unequal. If b2 – 4ac is :

(1) = 0 (2) > 0 (3) < 0 (4)  0

64. The hypotenuse of a right angled triangle is
6 cm more than twice the shortest side. If the
third side is 2 cm less than the hypotenuse, find
the hypotenuse

(1) 24 cm (2) 10 cm (3) 26 cm (4) 32 cm

65. In an A.P., if common difference d = 3, then
a5 – a7 is equal to

(1) 2 (2) –2 (3) 6 (4) –6

66. If x  y and the sequence x, a1, a2, y and x, b1, b2,

y each are in A.P., then 
2 1

2 1

a a
b b

 
 

 
 is :

(1)
2
3 (2)

3
2 (3) 1 (4)

3
4

67. A two digit number is 5 times the sum of its digits
and is also equal to 5 more than twice the
product of its digits. Find the number.

(1) 45 (2) 54 (3) 42 (4) 24

68. In a triangle, ABC; sin (A + B + C) = 1 then

1
tan(A B)

3
   and sec(A + C) = 2. Find A,

B and C respectively when they are acute.

(1) 60°, 0°, 30°

(2) 30°, 60°, 90°

(3) 60°, 30°, 0°

(4) 0°, 60°, 30°

61- ; fn P vHkkT;  gS] rks  P vkSj   P + 1 dk egÙke l eki oR; Z vkSj
y?kqÙke l eki oR; Z gksxk &
(1) H.C.F. = P, L.C.M. = P + 1
(2) H.C.F. = P(P + 1), L.C.M. = 1

(3) H.C.F. = 1, L.C.M. = P(P + 1)

(4) buesa l s dksbZ ugha
62- X dks 30 fdeh pyus esa Y l s 3 ?kaVs vf/ d yxrs gSaA ysfdu ; fn

X v i uh xfr nksxquh dj  nsrk gS] rks og Y l s 
11
2  ?kaVs vkxs gks

t krk gSA X dh xfr gS%
(1) 5 fdeh@?kaVk (2) 9 fdeh@?kaVk

(3) 9
7

 fdeh@?kaVk (4) 
10
3  fdeh@?kaVk

63- aax2 + bx + c = 0, a  0 ds ewy] okLrfod vkSj v l eku gSaA
; fn b2 – 4ac gS%
(1) = 0 (2) > 0 (3) < 0 (4)  0

64- , d l edks.k f=kHkqt  dk d.kZ l cl s NksVh Hkqt k ds nksxqus l s 6 l seh
vf/ d gSA ; fn rhl jh Hkqt k d.kZ l s 2 l seh de gS] rks d.kZ Kkr
dhft ,
(1) 24 l seh (2) 10 l seh (3) 26 l seh (4) 32 l seh

65- fdl h A.P., esa] ; fn l koZ varj  d = 3, gS] rks a5 – a7 ds cjkcj
gS
(1) 2 (2) –2 (3) 6 (4) –6

66- ; fn x  y vkSj vuqØe x, a1, a2, y vkSj x, b1, b2,

y A.P. esa gSa] rks 2 1

2 1

a a
b b

 
 

 
 gS%

(1)
2
3 (2)

3
2 (3) 1 (4)

3
4

67- nks vadksa dh , d l a[ ; k v i us vadksa ds ; ksx dk 5 xquk gS vkSj vi us
vadksa ds xq.kui Qy ds nksxqus l s 5 xquk vf/ d ds cjkcj  Hkh gSA l a[ ; k
Kkr djsa-
(1) 45 (2) 54 (3) 42 (4) 24

68- fdl h f=kHkqt  ABC eas ; fn sin (A + B + C) = 1 gS rks
1

tan(A B)
3

   vkSj sec(A + C) = 2. t c os U; wu dks.k

gS rks A, B rFkk C Øe' k% Kkr djsaA
(1) 60°, 0°, 30°

(2) 30°, 60°, 90°

(3) 60°, 30°, 0°

(4) 0°, 60°, 30°
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69. In the given fig. ABCD is a rectangle in which
segments AP and AQ are drawn as shown. Then
the length of (AP + AQ) is :

D Q C

A B90 cm

60 cm
P

30°

30°

(1) 300 cm (2) 350 cm (3) 320 cm (4) 360 cm

70. In the given fig, O is the centre of the circle. If
PA and PB are tangents, then the value of AQB
is :

80° O Q

A

B

A

(1) 100° (2) 80° (3) 60° (4) 50°

71. A cyclindrical vessel of diameter 4 cm is partially
filled with water. 300 lead balls are dropped in it.
The rise in water level is 0.8 cm. The diameter
of each ball is :

(1) 0.8 cm (2) 0.4 cm (3) 0.2 cm (4) 0.5 cm

72. If 
tan26 tan19

cos60
x(1 tan26 tan19 )

  
 

   , then the value

of x is :

(1) 1 (2) 2 (3) 2 (4) 3

73. The area of the shaded portion in the given
square figure is :

5

7

7

12

(1) 77 sq. units (2) 74 sq. units

(3) 72 sq. units (4) 89.5 sq. units
74. The angles of quadrilateral are in A.P. The

greatest angle is thrice the least angle. Find the
greatest angle.
(1) 135° (2) 105° (3) 145° (4) 100°

69- fn,  x,  fp=k esa ABCD , d vk; r gS ft l esa fn• k,  x,  vuql kj
• aM AP vkSj AQ • haps x,  gSaA rks (AP + AQ) dh yackbZ gS%

D Q C

A B

P
30°

30°

(1) 300 l seh (2) 350 l seh

(3)  320 l seh (4) 360 l seh

70- nh xbZ vkÑfr esa] O oÙ̀k dk dsaæ gSA ; fn PA vkSj PB Li ' kZ js• k, ¡
gSa] rks AQB dk eku gS%

80° O Q

A

B

A

(1) 100° (2) 80° (3) 60° (4) 50°

71- 4 l seh O; kl  dk , d csyukdkj  crZu dks vkaf' kd : i  l s i kuh l s
Hkjk gSA bl esa 300 l hl s dh xsansa fxjkbZ t krh gSaA t yLrj  esa 0-8 l seh
dh of̀¼ gqbZ gSA çR; sd xsan dk O; kl  gS%

(1) 0-8 l seh (2) 0-4 l seh (3) 0-2 l seh(4) 0-5 l seh

72- ; fn 
tan26 tan19

cos60
x(1 tan26 tan19 )

  
 

    rks x dk eku gS %

(1) 1 (2) 2

(3) 2 (4) 3

73- nh xbZ vkÑfr esa Nk; kafdr Hkkx dk {ks=ki Qy gS%

5

7

7

12

(1) 77 oxZ bdkbZ (2) 74 oxZ bdkbZ

(3) 72 oxZ bdkbZ (4) 89-5 oxZ bdkbZ

74- prqHkZqt  ds dks.k A.P esa gSaA l cl s cM+k dks.k] l cl s NksVs dks.k dk
rhu xquk gSA l cl s cM+k dks.k Kkr dhft ; s-

(1) 135° (2) 105° (3) 145° (4) 100°
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75. In the given fig. (not drawn to scale). If PQST
and RUS = 37°, then the find the measure of
SPQ.

T

Q
P

SR

U

(1) 147° (2) 123° (3) 127° (4) 143°

76. A number is selected at random from first 50
natural numbers. What is the probability that it
is a multiple of 4 or 5 ?

(1)
9
25 (2)

2
5 (3)

6
25 (4)

23
50

77. If a + b = 2c, then 
a c

a c b c


   is equal to :

(1) 0 (2) –1 (3) 1 (4) 2

78. The angle of elevation of the sun, when the
length of the shadow of a tree is 3  times the
height of the tree is :

(1) 30° (2) 45° (3) 60° (4) 90°

79. In the adjoining fig., AOB is a diameter, MPQ is
a tangent at P, then the value of MPA is equal
to :

O
B

120°
A

M QP

(1) 25° (2) 26° (3) 27° (4) 30°

80. The coordinate of a point (x, y) which divides the
straight line joining two points (x1, y1) and
(x2, y2) internally in the ratio m1 and m2 are :

(1)
1 1 2 2 1 1 2 2

1 2 1 2

m x m x m y m y
x , y

m m m m
 

 
 

(2)
1 2 2 1 1 2 2 1

1 2 1 2

m x m x m y m y
x , y

m m m m
 

 
 

(3) x = 0, y = 0

(4) none of these

81. Which letter will be in the middle between 6th
letter from the left and 13th letter from the right
in the English alphabet ?

(1) K (2) L (3) O (4) J

75- fn,  x,  fp=k esa (i Sekus i j  ugha • hapk x; k)A ; fn PQST vkSj
RUS = 37° gS] rks SPQ dk eki  Kkr dhft , A

T

Q
P

SR

U

(1) 147° (2) 123° (3) 127° (4) 143°

76- çFke 50 çkÑfrd l a[ ; kvksa esa l s ; kǹfPNd : i  l s , d l a[ ; k pquh
t krh gSA bl dh D; k çkf; drk gS fd ; g 4 ; k 5 dk xq.kt  gS\

(1)
9
25 (2)

2
5 (3)

6
25 (4)

23
50

77- ; fn a + b = 2c] rks 
a c

a c b c


   cjkcj  gS %

(1) 0 (2) –1 (3) 1 (4) 2

78- t c fdl h i sM+ dh Nk; k dh yackbZ i sM+ dh ÅapkbZ l s 3  xquk gks
rks l w; Z dk mUu; u dks.k gS%

(1) 30° (2) 45° (3) 60° (4) 90°

79- l ayXu fp=k esa] AOB , d O; kl  gS] MPQ,  P i j  , d Li ' kZjs• k
gS] rks MPA dk eku cjkcj  gS%

O
B

120°
A

M QP

(1) 25° (2) 26° (3) 27° (4) 30°

80- , d fcanq (x, y) dk funZs' kkad t ks nks fcanqvksa (x1, y1) vkSj (x2, y2)
dks t ksM+us okyh l h/ h js• k dks vkarfjd : i  l s m1 vkSj m2
foHkkft r djrk gS

(1)
1 1 2 2 1 1 2 2

1 2 1 2

m x m x m y m y
x , y

m m m m
 

 
 

(2)
1 2 2 1 1 2 2 1

1 2 1 2

m x m x m y m y
x , y

m m m m
 

 
 

(3) x = 0, y = 0

(4) buesa l s dksbZ ugha
81- vaxzst h o.kZekyk esa ck, a l s 6Bs v{kj  vkSj nk, a l s 13osa v{kj  ds

chp esa dkSu l k v{kj  gksxk\
(1) K (2) L (3) O (4) J
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82. Answer this question referring to the letter
sequence given below.

N  O  P  Q  Y  B  Z  A  R  S  H  I  J  K  L  M  T  U  V  G
F  E  W  X  D  C

What will come in place of questions mark (?) in
the following series ?

NDP, QWB, ZFR, ?

(1) SVI (2) AFS (3) IVS (4) SFA

83. How many odd numbers are there in the following
sequence which are immediately followed by an
odd number ?

5 1 4 7 3 9 8 5 7 2 6 3 1 5 8 6 3 8 5 2 2 4 3 4 9 6

(1) Six (2) Two (3) Three (4) Four

84. Arrange the following in a meaningful sequence.

(1) Cut (2) Stitch

(3) Mark (4) Measure

(5) Tailor

(1) (5), (4), (3), (1), (2) (2) (4), (5), (3), (2), (1)

(3) (5), (4), (3), (2), (1) (4) (5), (3), (4), (2), (1)

85. Which letter replaces the questions mark ?

A P

U

Y V G KC C Y ?

S E G B

(1) L (2) K (3) J (4) I

86. Insert the numerical value in following  question
in place of '?' mark

6 3

18 09

12 0907 08

84 ?19 17

(1) 72 (2) 17 (3) 153 (4) 25

87. Mita is taller than Rita but not as tall as Soni.
Rita is taller than Sarita. Soni is not as tall as
Rupa. Who among them is the tallest ?

(1) Mita (2) Rupa

(3) Soni (4) Sarita

88. Pointing to Amit, Anita said, “His mother is the
only daughter of my mother”. How is Anita related
to the Amit ?

(1) Mother (2) Daughter

(3) Sister (4) Grandmother

89. If A denotes +, B denotes ×, C denotes – and D
denotes ÷, then what is the value of

5 B 9 A 7 C 9 D 3 A 6 ?

(1) 55 (2) 54 (3) 45 (4) 50

82- uhps fn,  x,  v{kj  Øe dk l anHkZ ysrs gq,  bl  i z' u dk mÙkj nsA

N  O  P  Q  Y  B  Z  A  R  S  H  I  J  K  L  M  T  U  V  G
F  E  W  X  D  C

fuEufyf• r Jà• yk esa ç' u fpÉ (\ ) ds LFkku i j  D; k vk, xk\

NDP, QWB, ZFR, ?

(1) SVI (2) AFS (3) IVS (4) SFA

83- fuEufyf• r vuqØe esa , sl h fdruh fo"ke l a[ ; k, ¡ gSa ft uds Bhd
ckn , d fo"ke l a[ ; k vkrh gS\

5 1 4 7 3 9 8 5 7 2 6 3 1 5 8 6 3 8 5 2 2 4 3 4 9 6

(1) N% (2) nks (3) rhu (4) pkj

84- fuEufyf• r dks l kFkZd Øe esa O; ofLFkr djsaA
(1) dkVuk (2) fl yuk
(3) fu' kku yxkuk (4) eki uk
(5) nt hZ
(1) (5), (4), (3), (1), (2) (2) (4), (5), (3), (2), (1)
(3) (5), (4), (3), (2), (1) (4) (5), (3), (4), (2), (1)

85- ç' u fpÉ dks dkSu l k v{kj  foLFkkfi r djsxk\

A P

U

Y V G KC C Y ?

S E G B

(1) L (2) K (3) J (4) I

86- fuEufyf• r ç' uksa esa  \̂ * fpg~u ds LFkku i j  l a[ ; kRed eku MkysaA

6 3

18 09

12 0907 08

84 ?19 17

(1) 72 (2) 17 (3) 153 (4) 25

87- ehrk] jhrk l s yEch gS ysfdu l ksuh ft ruh yEch ugha gSA jhrk] l fj rk
l s yEch gSA l ksuh] : i k ft ruh yach ugha gSA muesa l s dkSu l cl s yack
gS\
(1) ehrk (2) : i k
(3) l ksuh (4) l fj rk

88- vfer dh vksj  b' kkjk djrs gq, ] vuhrk us dgk] ^̂ml dh ek¡ esjh
ek¡ dh bdykSrh csVh gSA** vuhrk] vfer l s dSl s l acaf/ r gSA

(1) ek¡ (2) csVh

(3) cgu (4) nknh

89- ; fn A '+' dks l wfpr djrk gS] B, '×' dks l wfpr djrk gS]
C, '–' dks l wfpr djrk gS rFkk D, '÷' dks l wfpr djrk gS] rks
5 B 9 A 7 C 9 D 3 A 6  dk eku D; k gS\

(1) 55 (2) 54 (3) 45 (4) 50
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90. Select a figure from amongst the answer figures
which will continue the same series as given
in the problem figures.
Problem Figures

?
Answer Figures

(1) (2) (3) (4)

91. Find out which of the answer f igure
(1), (2), (3) and (4) completes the figure matrix (X).

?
(X)

(1) (2) (3) (4)

92. Choose the correct figure from option which
complete the given matrix (X).

?
(X)

(1) (2) (3) (4)

93. There is a definite relationship between figures
(A) and (B), establish a similar relationship
between figures (C) and (D) and by choosing a
suitable figure from answer set.

?
(A) (B) (C) (D)

(1) (2) (3) (4)

94. You are given a figure (X) followed by four figures
(1), (2), (3) and (4) such that (X) is embedded in
one of them. Trace out the correct alternative.

( )X

(1) (2) (3) (4)

90- mÙkj fp=kksa esa l s , d fp=k dk p; u djsa t ks mÙkj fp=kksa esa nh xbZ
Jà• yk ds l eku gh t kjh jgsxhA

i z' u fp=k

?
mÙkj  fp=k

(1) (2) (3) (4)

91- i rk yxk, a fd mÙkj fp=k (1)] (2)] (3) vkSj (4) esa l s dkSu l h
vkÑfr eSfVªDl  (X) dks i wjk djrh gSA

?
(X)

(1) (2) (3) (4)

92- fodYi  l s l gh fp=k dks pqusa t ks fn,  x,  vkO; wg (X) dks i wjk djrk
gSA

?
(X)

(1) (2) (3) (4)

93- vkÑfr; ksa (A) vkSj (B) ds chp , d fuf' pr l aca/  gS] vkÑfr; ksa
(C) vkSj (D) ds chp ml h l eku l aca/  LFkkfi r djsa vkSj mÙkj l sV
l s , d mi ; qÙkQ vkÑfr dk p; u djsaA

?
(A) (B) (C) (D)

(1) (2) (3) (4)

94- vki dks , d vkÑfr (X) nh xbZ gS ft l ds ckn pkj  vkÑfr; k¡
(1)] (2)] (3) vkSj (4) nh xbZ gSa t Sl s fd (X) muesa l s , d esa
varfuZfgr gSA l gh fodYi  dk i rk yxk, ¡A

( )X

(1) (2) (3) (4)
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95. Find one correct answer figures from your
alternatives which resembles the pattern formed
when the transparent sheet, having a design
folded along the dotted line.

(1) (2)

(3) (4)

96. Count the number of triangles in the figure given
below :

(1) 17 (2) 16 (3) 15 (4) 14
97. Identify the correct related word.

Dog : Bark :: Pulp ?
(1) Fruits (2) Sand
(3) Paper (4) Transport

98. Shikha went 10 km South from her house. She
turned right and goes 5 km, again turned right
and cycled 10 km. Now, she turned left and cycled
10 km. What is the shortest distance of Shikha
from her house ?
(1) 5 km (2) 15 km (3) 20 km (4) 25 km

99. The question is based on the following diagram.
Answer the questions given below :

A B

51
3
2

4 6
7

C
Football

Hockey
Cricket

Which numeral represents the set of persons,
who play football and hockey but not cricket ?
(1) 7 (2) 2 (3) 3 (4) 6

100. Choose the correct mirror image of the figure
(X) from amongst the four alternatives
(1), (2), (3) and (4) given along with it.

(X)

(1) (2) (3) (4)

95- v i us fodYi ksa esa l s , d l gh mÙkj vkÑfr • kst sa t ks i kjn' khZ ' khV]
fcanhnkj  js• k ds l kFk eqM+s gq,  fMt kbu ds i SVuZ l s feyrh t qyrh gksA

(1) (2)

(3) (4)

96- uhps fn,  x,  fp=k esa f=kHkqt ksa dh l a[ ; k fxusa%

(1) 17 (2) 16 (3) 15 (4) 14

97- l gh l acaf/ r ' kCn i gpkusaA
dqÙkk % HkkSaduk %% xwnk \
(1) i Qy (2) jsr
(3) dkxt (4) i fjogu

98- f' k• k v i us ?kj  l s 10 fdeh nf{k.k dh vksj  xbZA og nk, ¡ eqM+rh
gS vkSj 5 fdeh pyrh gS] fi Qj  nk, ¡ eqM+rh gS vkSj 10 fdeh
l kbfdy pykrh gSA vc] og ck; ha vksj  eqM+h vkSj 10 fdeh
l kbfdy pykbZA f' k• k dh ml ds ?kj  l s U; wure nwjh D; k gS\
(1) 5 fdeh (2) 15 fdeh (3) 20 fdeh(4) 25 fdeh

99- ç' u fuEufyf• r fp=k i j  vk/ kfj r gSA uhps fn,  x,  ç' uksa ds mÙkj
nhft , %

dkSu l k vad mu O; fÙkQ; ksa ds l ewg dks n' kkZrk gS] t ks i QqVckWy vkSj
gkWdh • syrs gSa ysfdu fØdsV ugha\
(1) 7 (2) 2 (3) 3 (4) 6

100- vkÑfr (X) ds l kFk fn,  x,  pkj fodYi ksa (1)] (2)] (3) vkSj (4)
esa l s l gh ni Z.k i zfrfcEc pqusaA

(X)

(1) (2) (3) (4)
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1.
2.
3.
4.
5.
6.
7.
8.
9.
10.
11.
12.
13.
14.
15.
16.
17.
18.
19.
20.
21.
22.
23.
24.
25.

(4)

(4)

(1)

(3)

(2)

(1)

(2)

(1)

(3)

(4)

(2)

(1)

(2)

(3)

(4)

(3)

(1)

(4)

(3)

(2)

(2)

(3)

(3)

(4)

(2)

26.
27.
28.
29.
30.
31.
32.
33.
34.
35.
36.
37.
38.
39.
40.
41.
42.
43.
44.
45.
46.
47.
48.
49.
50.

51.
52.
53.
54.
55.
56.
57.
58.
59.
60.
61.
62.
63.
64.
65.
66.
67.
68.
69.
70.
71.
72.
73.
74.
75.

GTSE - Main Exam (24.12.2023)

ANSWER KEY
CLASS - 10

76.
77.
78.
79.
80.
81.
82.
83.
84.
85.
86.
87.
88.
89.
90.
91.
92.
93.
94.
95.
96.
97.
98.
99.
100.

(3)

(2)

(1)

(4)

(2)

(2)

(3)

(3)

(3)

(4)

(2)

(1)

(3)

(2)

(4)

(3)

(1)

(4)

(4)

(1)

(3)

(3)

(4)

(1)

(1)

(1)

(1)

(4)

(3)

(2)

(1)

(3)

(3)

(1)

(2)

(3)

(4)

(2)

(3)

(4)

(3)

(1)

(3)

(1)

(4)

(2)

(2)

(4)

(1)

(3)

(2)

(3)

(1)

(4)

(2)

(4)

(1)

(1)

(1)

(4)

(1)

(2)

(1)

(1)

(1)

(4)

(1)

(2)

(1)

(1)

(4)

(1)

(2)

(4)

(3)
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